E50t >PE 1 AI=F41"F CRILUF) PFE2M=kEBET (GEF) PEIMN=c4KRKEHLE (GEF) <F100f >HFE1A=F
FEET (GHEF) PE2M={THN GTHFB) PEIM=EELTE CRILF) <F200( >PFE 1 A=[FEXHEE (E3F) »
F2NM=TEZEE (BXHP) PEIMU=EELTE EXP) <[F400{; >PE1LA=KIIEH EXH) PE2M=2ETEF (FH
) <[F800%y >WEE 1 AI=FERHIE (FREM) <HikE251 >PE 1 A=(FEE CKlLkh) PE2A=5thIE FEXKP) PE3
1_L #EBEEE BEXH) <FEI100: >PE1AI=kEET (AEF) PE2M=FERE (FEYF) PEIM=FEHE EXFH) <E
00tn > e 1 RI=2hZE (BKP) <N T T (25 >PE1M=RTHN GFTHF XML PE2 =Pk CKILF)
%3{4 EhELTE CRILE) <E100%: > 1A=/t F (BHdF) <FkE2580 >PHE1A=/FFEKX (FAF) PE
2M=FEELHE BmAT) PEIM=5FEE (BEFR) <FI100% >PE 1A=/ \WtkF (FHEd) PE2U=/EFFEKX (@H
F) PEIM=FEOMKE EXH) <F200t: >H1M=FAKRE EXHP) <BAARL—2008 >PE1A=[FEXHER (k3
) PE2M=aF{"F CKLF) PEIM=Ic2«ARFERZE (GiEd) <[F400{r >PE1A=REA/E (FEF) <400t UL —>p
F1 =" 8FPE2(A=2KFP<400{y ARL—UL—>PFE1 =P P»E2(I=28XKH
[BFRE] P81 f=rhEHRPE2 I=BKEPE =B [mgi s
(ZF#E] BB 1AI=FRTPB2M=FBFPEIMU=RIUF | j57 75 -y SHARERTE (14x—) BKHRERATAS
[(BLEE] PETA=FRKTPE2MA=FEHPPEIMA=FEATF | < \RI> L BTFS>HE2M I EEHD 8 SEHR
KBRS (138—2) BKF34E F SHE & SHE
BHROLTHEWELET,

. m m n Vg | = m m 5%
ES %A = B | 3 A | 2 Bf
g ow, 5 5 FH *r o & 20
1 Ig £ nk 8
L = B ¢ YR w9 %4t
B ﬁj; A /J\.L B KE®
% % & R 28 I* g 6 Al\"
nzmEo I ¥ 3 = 4 8 BO
q:*uq: @ B2 E . =17 H?
;7 % mEz EF g4 wHE 81
g =5 B E?; ERTOERS H X é/
FEEA (FR) LI@SA (B A BEsngy
=

&F - ERAENER. #RHICREZIE
~HBRIRE - RERERS~

6 A14ABFRIBK43N A, aFRANEEESZERET SIS
ZFa—R72- RAEE6ROME [EF - THAEE] HF
ELELE, INITKY, EBOBHEERT KGR - &F8
—BEmAEFLIC. REOQOEELCHIFTEANAEICLSANBEE (3t
& - B5E - TAFREE) ORLE. BEDOMECERALLEICLD

RBHDOTH, B - AR KB - BIFELEEDSTAT AN
WrEradiad, BEROWEEZZITEL =

HClE, WEBO—AHRNERERED, 7H1BICKERS g
£ELUTERMAORM, Al - —BHIC&20HM %, FkEH Pl Sl
EOEHEFNRBII 3D, BXTHEEHANTHECEES AR
BokcEl A B FEHZSUREI615AD 5928500 D %i%‘i;é
EREDFEON, 7H11E%}3’i“‘ﬂt/\)§(76h$b7‘:0 DREEAE

Ero. BEEANSDEFICLY. REHCHESANBE 2 LT 7 o
N1BADHEEZ 6 A148 z‘»b 7T AIBEETHAMICIREL kLo
L7z, BHTIE. SEBAAREE(C & 2 BERIS TORMEE©. EHEDEE
KEEEFEC £ BHKENDRKEE), BHBRBEICL S ‘ g}:g;g;

1=k

REBREDERE. REMICIIBXENDEEHBEZLEDES
XEETVWELL,

® | Aug.2008

HEEADAX—ADOMBEENS, ECLE -

*»" [—] BRAGETEBRREEEL B - B
' S J E H 0, HERODARTE DEROHEBE
LTWET. STHABENET.

EXTPERESHFTASRELRERS

WEER 6 B19ACK)
BE 15 L)IETHRSEESE 3RS

[(BF] <151008, >P5E 1 A== (BEH) PE2U=ERE (FHP) PEIMA="KEH (GiEk$) 251008 >PH
TRI=tEsE (EAH) PE2U=KSERF (LEF) PEIML=HAFA CRluF) <3F100 >PE 1A=Lk CRIL
) PE2M=KRNIBEA EAH) PEICI=R/IFA (hEH) <2008 >PE1A=2kHEsE CRUF) PE2=XKEEH CKL
) PEIA=AABA @EAH) <4008 >PE 1T A=EH/EKRE CKIUF) PE2 =58 (EB+) PEIMC=/NEE (&
BH) <800t >PE 1 fU=@HEFM CGHET) PHE2MA=FEER (E3F) PEIM=EE=E (FEP) <1 F15008 >PFH
TfRi=miEZF (AT PE2M=FHES (FHT) PEIM=TFEEA (FEF) 15008, >PHE 1 =fEEaHE (EEH)
PDE2 A=A (FHT) PEIMA=EFREAN CKLUF) <3000, >PE1U=rfCEaE (EE5) PE2u=%8ERMN (TH
) B3 A=K (FEP) <1108 N—RIL>PET =% @A) PB2=EEAs (FUF) PEIA=1/IA
A (EBH) <IK40080 UL —>PHE1=FEAH (F - Kl - N5 - JR) PE2M=mhEF (BEF - &k - FH - #HAK) PEH
3RI=1&BH (T - K5 - NEFTF - =) <4008, UL —>PE1fU=mAF (F - Fih - 51F - KW) PE2u=XKlU+ (B
- iR - BE - BE) PEIM=FEF CGiH - R - & - Sk <EUSHOE>PEHETI=/MMIEX CRUP) P2 =X
it (EAH) PEIMN=XFAT (LBH) <BEsSHO>PHE1A=rLHX (EEF) PE2A=H8FEMK CKRLF) PES3
fI=EHR (LB <EURBKU>PEIT =R (hEH) PE2U=HFRK @EAH) PEIMC=RIIFX (fﬁ?‘n‘ﬂF) <
RAZRT>PENU=BAE @FEAP) PHE2A=/"FFRFT RNF) PEIU=RRETA (RN+) <mEHRK>PHE M=
At (EAF) PE2U="FKX (KA PEIU=aFE= (GiEd)

[(ZF] <1100 >PEI1f=aFbdc (FAF) PE2U=FIEHEK CKUF) PEIU=ERESE (EXF) <2F100%
>PE 1 fi=tkc2KRRiz CRILUF) PE2 =R/ W GEFAF) PFE3u=FEsE (FEF) <3F100t >PH 1 I=E17LF
(FEAF) PE2MU=HFE CRUP) PEBEIA=#nAEM FEIFH) <2000 >PHE1U=aFLF @EAH) PE2U=8"F
B CRl) P 3=tk 4ARRiE CRILF) <800%w >P 3B 1 U=[FEEE (BXF) PH2U=FA0»Y (FEHF) PFH3=
FEdy = B (RFFR) < 1515008 > P51 =§EHd = (7kIJJ'=F) P2 fU=TEESE (FEF) PEHEIMU==HREE A
f) <1500%w >PEE 1 fI=/NERR (BEXF) PE2U=AFHER EXH) PEIU=8F2FF CKlUH) <1004 N—FIL>
D1 Ai=fEBEER CRILF) PE2fM=ttcKREX (BEH) PEIU=XFHR @A), RIEE (FEF) <(K4004 UL —
>PETI=KIUp (XF - -hkeK-FAX-FIB) PE2MA=HP (FE- #%H- - /N\FHF- 518 PEIG=mAT (BN - L# -
FE - B <400t UL —>PEI1A=FAH (FE - #HK- X5 58 PE2=KUp (KRR - FE- G- -85 PHE3IQ
=tEBES GEH - /N\FF - 2F -8 <EUSHU>PEIfI=F4ARHEF (FLF) PE2H=/ARR EXH) PEIf=
EEE AT <EVIRBKU>PE fi=FKHhx (BEH) PE24M=kEE (FEP) PEIC=MIMBEX (FL+) <E’ﬂ}*L
RIF>PEA=/"FFE (FEF) PE2U=MHFPHEE (RUP) PEIM=TEEDE EXf) <mEHFE>PE1 =
BEEMTF FEAH) PE2U=/HFRE (EEH) PEIU=EEER (BED)

(BFHEA] PE =BT PE 2 =BT P»E 3=l

(ZFHE] PE 1 A=KILUFPE2A=FEHPPEIMU=FEAF

[(BL#EE] PE 1 A=FEFPPE2 C=XRKILPP»E 3 C=1{fEE+F

EXRTPRFRESHTAKEKNGFERS

WEIER 6 A25H(K)
Bs 5 EXTRS-

[(BF] <BEBFESL >PE 1 A=rERER (FEHPXHHLE) DB 2 a=MHE (Gis) B3 U=WE#hs GEHP) <HE0
th >PEU=EE%F @FEAH) PHE2U=/"FFEN (FEH) PHEIU=EHERX (FEF) <F100{: >P»HE1u=HE2
(BXRF) PE2M=EEEF (@AF) PEIM=fc<cKEHE (EBF) <[F200% >PFE1A=HEE EKPXHHFLLE) PB
2 =/NHFFEN (FEF) PEIMU=FEEA (EFEMNH) <F400{ >PE1TU=FFEIEF (TEF) PE2 =B KE (FH
f) <[F1500% > P51 i=%tA (FEB) PE2M=FAFFR (FHP) <EXE250 >PE1 A= 4AKEE (R XAEH
FLER) PE 2 fi={EEEREm CKuF) PEIM=FFEE (FEFS) <FEI100{ >PEI1A=2Fe GiES) PE 2 A=HA0%
CRiim) D3 fI=TFFHE (FEP) <F2008 >PE1U=BRE (BXH) <N\NFT754250 >PEHE1U=ELAREKX (F
HAUKTERCE) P82 ={cBEE CRUP) PEIM=RK/IEE GrEB) <FkE250 >PE 1 A=RIIKE FEHHXHH
FLER) P2 AI=RERTR CRUF) PEIMU=ERD (BXP) <F100{r >PHE1U=1;EakE (EEh) PE2A=FESSH
(F7IH) PHE3A=TEHE (FAEF) <F200{ >PHE1i=EEak (KE+) PE2M=EFz GrEH) P 3U=FKS
T (AP <BEAARL—2008 >PE1A=2EES (FEHP) PHE2MA=5FR EXF) PEIU=2BER EXH) <
[E400%% > P 1 U=2Hi#R (FHEF) <4008 UL —>PFE 1 U=FHFPE2AI=FAHFPE 3 ={EF8H<400{r *RL —
L—=>PE 1A =FmAFPE2M=FEFPEIA=2KF

(7] <EETESL >PE 1 A=8FRFEF (AHFXHHLE) PE2U=R/IEHH (BXP) PEIUL=ARDL CKlud) <

¢ Tome | @



